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bilities for earnings per share of com,

4.14 You have estimated the following proba
and B:
Probability A B
ol 0 —.50
i .50 —.25
4 1.00 1.50
2 2.00 3.00
4 3.00 4.00
Rty e

of the earnings per share for each comp

a) Calculate the mean and variance
oose A and others might choose

b) Explain how some investors might ch
are based on mean and variance.

¢) Compare A and B, using the second-order stochastic dominance criteri

4.15 Answer the following questions either true or false:

I If asset A is stochastlcally dommant
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